Chemistry



Name ___________________________________
Worksheet – Hess’s Law # 1
1.
3 CO2 + 4 H2O(l) ( C3H8(g) + 5 O2(g)      
∆H = 4440 kJ
C (graphite) + O2  ( CO2       


∆H = -788 kJ
C3H8(g) ( 3 C (graphite) + 4 H2(g)       
         ∆H = 208 kJ


Use the equations shown above to determine the ∆H for the following reaction.  Make sure that you state if it is endothermic or exothermic.


H2(g)  + ½ O2(g) ( H2O(l)

2.
½ H2(g)  +  ½ Cl2(g) ( HCl(g)       


∆H = -69 kJ

H2O(g)  +  Cl2(g) ( 2 HCl(g)  +  ½ O2(g)       
∆H = -31.5 kJ

COCl2(g)  +  2 H2O(l) ( CH2Cl2(l) +  H2(g)  +  3/2 O2(g)    ∆H = 120.7 kJ

Use the equations shown above to determine the ∆H for the following reaction.  Make sure that you state if it is endothermic or exothermic.


CH2Cl2(l)  +  O2(g) ( COCl2(g)  +  H2O(l)

3.
CH2Cl2(l)  +  O2(g) ( COCl2(g)  +  H2O(l)       
      ∆H = -28.4 kJ

½ H2(g)  +  ½ Cl2(g) ( HCl(g)      


      ∆H = -138 kJ

CH2Cl2(l) +  H2(g)  +  3/2 O2(g) ( COCl2(g)  +  2H2O(l)  ∆H = -241.4 kJ
Use the equations shown above to determine the ∆H for the following reaction.  
Make sure that you state if it is endothermic or exothermic.


2 HCl(g)  +  ½ O2(g) ( H2O(g)  +  Cl2(g)

4.
H2SO4(l) ( H2S(g)  +  2 O2(g)       


∆H = 588.7 kJ

SO3(g)  +  H2O(l) ( H2S(g)  +  2 O2(g)       
∆H = 517.5 kJ

H2O(g) ( H2O(l)      




∆H = -82.5 kJ


Use the equations shown above to determine the ∆H for the following reaction.  Make sure that you state if it is endothermic or exothermic.

H2SO4(l) ( SO3(g)  +  H2O(g)

5.
H2SO3(l) ( H2O(l)  + SO2(g)       

∆H = 31 kJ

SO2(g) ( S(s)  +  O2(g)      


∆H = 148.5 kJ

H2S(g) +  ½ O2(g) ( S(s)  +   H2O(l)        ∆H = -77.5 kJ
Use the equations shown above to determine the ∆H for the following reaction.  Make sure that you state if it is endothermic or exothermic.

H2SO3(l) ( H2S(g)  +  3/2 O2(g)

